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PA} SehH oilLiE] 910-1 = 36 36 AN [R|
24 SehH ofl-H2| 911 7 53 53 AARZIE[R|d
% =ziH otz 912 P 1,039 1,039 AARRIE|R|od
2% SehH oflhz| 912-1 = 19 19 N AICIPNfeC!
2 SehH itz 913 ol 73 73 L=2ix|od
28 =2 oLk 914 el 2,368 2,368 =2Ix|o
2 =ziH oLt 914-1 = 12 12 =aix|od
0 S itz 915 = 3135 1,749 AAkRIE (x|

Al x|,
31 Sz itz 915-4 = 242 Q0 AiAzia x[od
32 =i (GR=Y 917 = 1,359 1,359 AAREIE|R|od
3 SehH oflhe2| 917-2 = 11 11 NI CIPNfeC!
34 3z ol 937 = 2,744 7 AUARRIZX|od
3 =2 oflLhz] 937-1 ! 813 813 AARRIE K]
K a2 itz 937-2 | 3203 289 AR
3 SeiH OfI-H2] 937-3 | 902 902 N AICIPNfeC!
3B SehH ofl-H2| 937-4 | 546 546 AARZIE|R|0d
39 =ziH (= 937-5 cH 208 208 AA IR X |4
40 =ziH oLt 937-6 oH 215 215 AUARRIZX|d
4 =z ol 937-7 X 281 281 AAREIZ|R|d
2 =efH ofl-He] 937-8 X U7 47 AARRIR[R|d
83 =efH oflHe] 937-9 X 5,606 5,69 AARI|R|d
44 =ziH (= 937-10 X 1,035 1,035 AARRIZ K|
45 =i ofl-He] 937-11 Pl 329 329 AARRIR[R|d
46 S2hH OfI-H2] 937-12 b 1,367 1,367 AALTIE|X|0d
ar =i ofl-He] 937-13 X 417 477 HAKZIZ Ko




2} I—EPE =] 20234 3% 202 Q2

2 XA = SR A BEX[
itz 937-14 | 724 724 AAkRIE (X4
ofLhz| 937-15 A 517 517 AUARZIE (X0
oLk 937-16 A 1,558 1,131 AdARRIE (X[

SEXY
itz 937-17 | 1,555 16 Xloislzits imix .
ofluhie] 938 =1 664 440 AARER x|
ofiLhe 0 = 1,494 1,138 AARZIZ (X |04
ollLhiz] 940-1 H 5,543 5,543 AR (XA
oflehe o4-4 2l 99 136 =2ix|od
itz u7 =) 863 100 A&l x|
itz 7-1 = 23 223 Al x|
oLk 948 =1 1,031 1,031 MARR (X[
59 oflHe] 949 = 936 936 HARZIZ K]
oflh2| 90 = 654 654 AARRIZ X |04
oflLhz] 951 = 1,005 1,005 MARZIE K|
oflhe] 951-1 = 1,633 1,633 AAkERR x|
ofl-He] %1-2 =1 704 704 AARRIR K|
oIzl 95?2 = 351 351 AR
ollLhz] 952-1 FS! 11 11 AR [X|A
ollLHe 052-2 b 5 5 AR (X
oflHe] 93 = 155 155 AARRIE K|
oflLHz| 953-1 A 4 4 AAR x|
69 ofl-He] 954 = 700 700 Az x|
Ol %o4-1 o 6 6 MNERIRI]
Ol|LHE] 954-2 bS] 26 26 ALK
Ol %43 H 5 5 MnziRixie]
OllLHE] 954-4 bS] 15 15 ARZ[X
itz 954-5 = 2,474 2474 AAkRIE (X |od
oflti2] 954-6 = 63 63 ez x|
oflHe] 955 = 412 246 HElzzlxed
OllLHE] 955-1 bS] 59 37 ALK
itz 955-2 =5 134 70 AAkERR x|
Oll-H2] 956 ol 337 337 Az x|
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= = 2| x| R= SR A BEX[
80 | itz 956-1 | ot 911 AAkRIE (X4
81 =24 ofiche] 956-2 [=3 31 31 A&l x|
8 e ofiLhe] 957 | 935 93 AARRIR (X[
83 S2hH Ofl-H2] 957-1 | 563 563 NI CIPNfeC!
84 =zfH otz 958 = 588 588 AARRIZ|R|d
85 | itz 959 = 863 863 AAkRIE (X4
86 Sz ofLhz| 960-1 o 1,957 1,557 =2Ix|o
87 e ikl 960-2 2l 109 109 =2Ix|od
88 3 ol 960-3 el 526 526 =2x|od
89 =24 itz %1 = 126 126 AARZIZ X |od
0 | itz %62 =) 1,074 1,074 AAkRIE (K|
91 =i ot 93 =t 77 77 AARRIE[R|d
R | itz %4 = 840 840 AARIE|R|
B3 =2 oLk %5 = 97 397 AdARRIE (X[
% =i ofl-He] 966 = 298 298 AUARRIZ|X|od
% =2 olLhz| 966-1 =1 1,957 1,957 AYARTIE [X|od
% | itz 966-2 = 664 664 AAkRIE (X4
97 =i ofiche] 9%7-1 = 783 783 AARRIE X[
%8 SehH OfI-H2] 97-2 = 787 787 AARZIE[X|d
€ 3 ol %7-3 = 1,319 1,319 N =N ec!
100 =ziH otz %7-4 = 572 572 AUARRIZ K|
101 = itz 968 = 1,164 1,164 AAkRIE (x|
102 =i ot 969-1 = 262 262 A2z (x|
108 | el | ol %60-2 ot 1408 1408 il'j:';:‘;';'lj
04 | =ele | ol 969-3 ot 733 73 il'i:';:ﬁ'; E’
105 =24 itz 969-4 =) 519 519 AHelziz(x|ed
106 =2 oLk 970 =1 1,122 1,122 AYARTIE [X|od
107 SehH ofl-H2| 970-1 = 478 478 MAkzia[x|od
108 =2 itz 71 | 569 569 AAkRIE (X4
109 S2hH oflhz| 971-1 b 630 630 AARZIE[R|d
110 SehH OfI-H2] 971-2 | 485 48 N AICIPNfeC!
111 =i otz 971-3 P 616 616 AARRIZ|R|od




Alo3o % S =R A gLt = 20234 33 202 E2

7= = 2 XA = SR HRIHA BEX[
112 | oflhel 97-4 A 181 181 AMAkiE (x|
113 =i oflHe] 971-5 | 267 267 AAREIE[R|d
114 3z ol 972 = 281 281 N =N ec!
115 =ziH (= 973 cH 192 192 AN [X|A
116 e oLt 974 H 483 483 MR [R|A
17 SehH OfI-H2 974-1 X 891 891 N AICIPNfeC!
118 =z ot 974-2 | 955 955 AAREIE[R|d
119 | Ofl-H2] 974-3 | 767 767 AMAkiE (x|
120 =i oflHe] 974-4 X 615 615 N =N ec!
121 =ziH otz 974-5 P 784 784 AARRIE|R|od
122 =2 oLk 974-6 X 1,267 1,267 AYARTIE [X|od
123 | ik 974-7 ch 165 165 AAERR X
124 =i ot 974-8 | 1,043 1,043 N =N ec!
125 e itz 974-9 | 3136 313% AAkRIE (K|
126 S itz 974-10 | 281 281 AAkRIE (x|
127 S2hH oflhz| 974-11 cH 660 660 AAkIE[X|od
128 =2 oflh2| 974-12 | 3H 3% AARZIZ X |04
129 SehH oflhe| 974-13 A 41 241 AAkRIE (x|
130 SehH oflhe| 974-14 | 514 514 AAkRIE (K|
131 | oflhz| 974-15 | 1,078 1,078 AARZIE[R|d
132 =ziH otz 974-18 X 2,164 2,164 AAREIZ|R|d
133 SehH oflh| 975 | 803 803 AAkRIE (X4
134 SehH oflhe| 976 | 1,084 1,084 Al (x|
135 S itz 976-1 X 999 999 AHElE x|
136 =ziH (= 976-2 oH 459 459 HElziz x|
137 | oflh| ar7 B 182 182 Atz x|ed
138 ehH ofl-h| 978 | 3045 3045 AHEleiz (x|
139 S itz 979 X 1,564 1,564 AHglziz(x|ed
140 SehH oflhe| 980 = 1,468 1,468 RIQIBFA=TIX|o4
141 | ofi-hiz| 981 X 1,408 1,408 AHElE x|
142 | ofl-h| 981-1 cH 307 307 AHElz2 x|
143 | itz 982 cH 410 410 AHglziz(x|ed
144 SehH oflhe| 983 = 271 27 Al (x|
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7= = 2 XA = SR A BEX[

145 | itz 984 = 301 301 gz (x|
146 S oflti2] 985 = 1,031 1,031 A&l x|
147 3z oflHe] 986-1 | 450 450 Helzzlxed
148 e itz 986-2 = 869 869 A&z x o
149 S2iH OfI-H2] 97 ol 486 486 A2z x|
150 S itz 987-1 | 1,685 1,685 RIOIBIAETIK|4
151 | itz 988 = 1,161 1,161 A&l x|
152 =24 itz 983-1 | 1,003 1,093 gz (x|od
153 Sz itz 988-2 | 142 142 A&l x|
154 | itz 988-3 | 1,154 1,154 gz (x|
155 24 ofLHe] 988-4 cH 268 268 Az (x|
156 SeiH Ofl-H2] 988-5 =1 49 49 Az x|t
157 2 oflti2] 988-6 X 41 421 A&l x|
158 e itz 989 = 694 694 ROAIBFAETIR|A
159 =24 itz 989-1 = 43 43 RjOIBIAEHFIX|4
160 e ofl-He] 990 Et 306 306 X|oIBIAEEIR|0d
161 =2 itz 990-1 | 1,000 1,000 RIOIEHAHTX |04
162 SehH Oll-h2] 990-2 cH 337 337 RIOIBFAERIX|04
163 =ziH otz 990-3 & 252 252 RIS EHZIX|
164 S itz 990-4 | 315 315 RIQIBIAETIK|4
165 | itz 990-5 | 426 426 RjoiBIAHFIK|4
166 | itz 990-6 & 200 200 R|OISIHEHAIK|04
167 S oLk 990-7 H 252 252 RIOIBFA K|
168 =i ot 990-8 oH 161 161 KIS AIR| o
169 e itz 990-10 = 07 307 RjoISIZRK |04
170 S2iH oflHe] 990-11 cH 488 488 K|S RIX|od
171 | ofiche] 990-14 ch 258 258 RIOISIHEHAIK|04
172 =i ot 990-15 P % % RIS AIR|od
173 SehH Ofl-H2] 990-17 = 80 3 RIOIBFARIX|0d
174 =i ol 990-21 = 30 30 RIS AIR|od
175 =i ofl-He] 990-23 X 38 17 PN ool e o PN
176 =ziH otz 990-26 = 2% 11 RIIetHEMR|A
177 Sz oflLHz| 990-27 X 1,358 1,204 X|oi5IZHAIX|




K] M2t & 20234 38 202 e

7= = 2 XA = SR HRIHA BEX[

178 =efH ofl-He] 991 &= 552 552 KOS 24|
179 =i oflHe] 992-1 & 628 400 RIS AIR| o
180 3z ol 992-2 & 922 922 KIS AIR| o
181 e itz 993 = 218 278 RIOIBIH K|
182 | oflh| 993-1 | 1,467 1,383 RIOISHA MR |04
183 =i (GR=Y 993-2 = 109 109 RIS AIR| o
184 SehH oflhz] 993-3 ch 298 109 AARZIE|R|0d
185 e oflhe| 993-4 | 1,185 1,185 ROIBIH K|
186 Sz ofl-hz| 993-5 = 37 37 RIOIBFAETR|
187 =ziH otz 993-6 &= 594 504 RIItHEFR|A
188 =i ot 993-8 & 887 887 RIS AIR|od
189 | oflhe| 993-9 & 1,114 1,114 RlO1BIHETR|A
190 =i ot 993-11 | 112 112 N =N ec!
191 =ziH (= 993-13 T 62 62 RIS x|
192 =ziH (= 993-14 P 62 62 RIS AIR|od
193 e ofih] 993-15 - 84 84 AAkRIE (x|
194 =i ot 993-16 P 60 60 AAREIE[R|d
19 SehH Oll-h2] 993-17 | 139 6 RIS RIX|4
19 SehH OfI-H2] 993-18 X 44 M RIASIZARIX|0d
197 S2hH OfI-H2] 993-20 b 104 54 AAkE[X|od
198 SehH OfI-H2] 993-22 T 4 4 AARZIZ[R|0d
199 e ofl-He] 995 T 1,712 45 K|S 2|04
200 e oflhe| 9% = 1,833 1833 ROIBIH K|
201 =i ot 9%-1 & 65 65 KIS AIR| o
202 =ziH (= 997 &= 530 530 RIS IR|d
203 =i oLk 997-1 T 62 62 Pl [T SPN e
204 e ofl-h| 998 =y 1,385 1,385 RIOISIA MR |04
205 S itz 999 | 112 112 RIOISIA TR |04
206 SeiH Ofl-H2] 999-1 & 557 557 RIOIBFAHRIX|4
27 =i ofl-He] 999-2 & 227 227 RIS AIR|od
208 =i ofl-He] 1000-1 X 34 324 PN ool e o PN
209 | itz 1000-2 | 1,031 1,031 ROIBIA K|
210 SehH Oll-H2] 1001-1 &= 317 317 RIOIBFAERIX|0d
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= = 2 XA = SR HRIHA BEX[
211 S oLk 1001-2 X 1,067 1,067 ple Lt | SN o]
212 | oflti2] 1001-3 & 1,278 1,278 RIOIBIAERIX|4
213 =2 oLk 1001-4 = 217 217 Xjo1EIZ4AIx|d
214 e itz 1002-1 | 356 356 R|OIBIHEAIX|0d
215 | oflh| 1002-2 | 107 107 RlOIBIAETIK|4
216 =i (GR=Y 1002-3 &= 217 217 RIS AIR| o
217 =z (GIR=Y 1002-4 & 139 139 RIS AIR|od
218 SehH oilLiE] 1002-5 &= 48 48 RIOoI8 x|
219 =i ol 1002-6 & 2% % KIS AIR|od
220 =ziH otz 1003 & 2,231 2,168 RIS AIR|od
221 =i ot 1004 = 456 264 RIS AIR|od
22 =i ofl-He] 1005 & 747 623 KOS 24|04
223 =2 oLk 1005-1 = 483 83 XjoiEIZIIx|d
24 e itz 1006 = 69 69 RO1BIH K|
225 =ziH oLt 1013-1 = 2,620 674 RIS AIR|od
226 | ofih] 1032-16 | 1,201 1,201 AAkRIE (x|
27 SeiH oflHz| 1032-19 | 125 KY AARZIZ[R|0d
228 =2 itz 1032-30 =5 56 37 AAkRIE (x|
229 24 OoflLHE] 1032-39 sl 41 41 AR |X|od
230 S oflhz| 1035-8 | 671 79 A&iz2|x[od
A2,
231 | oflh] 1035-10 | 1,500 1,500 ol
- AR,
232 S itz 1036 &t u7 347 waix[od
AR,
233 e oflhel 1036-4 | 335 286 =aixod
- A2,
234 | oflh| 1040 &} 11,101 11,101 waixod
235 | ofl-h| 1044-1 | 159 85 A&z |x|ed
236 S itz 1044-2 | 46 % AEizz|x[od
237 e | oflhel 1044-3 | 53 53 gz (x|
28 | = | ol 1044-4 & 2234 2234 iﬁiﬁlﬁé
239 SehH OfI-H2] 1044-7 | 50 50 N AICIPNfeC!
240 =i otz 1044-8 P 122 116 A2 x|




K] M2t & 20234 38 202 e

7= 5 2| K| x= SHAIA HRIHA B
241 SehH Oll-H2] 1044-9 H ik} 3 AARZIE[R|d
242 =l ofLHE 1044-10 X 106 3 ARz x|
243 3z oflHe] 1044-11 cH 315 315 HEzzlx|ed
24 St ofiLhe] 1044-12 c 212 141 A&z x|
245 e oflh2| 1044-13 ch 63 63 Al |x|od
26 e ofiche] 1044-14 | 83 8 A&z x|
247 =l ofiehe] 1044-15 X 149 149 ARz x|
48 =24 ofiche] 1044-16 X 139 139 Azl (x|
AARIZIX|A,
29 et ofiehe] 1044-17 | 3,464 3464 aix[od
250 = ofiLhel 1044-21 | 362 318 A&z x|
251 =efH oilLiE] 1044-24 = 125 24 ARz (x|
252 =24 ofiche] 1044-25 CH 3 3 HEzEIX|
253 =i oflHe] 1044-30 cH 28 28 HEzzlxed
254 St ofiche] 1046-1 | 188 188 AR |X|od
AHEzRx,
25 =l ofiLhe] 1046-2 | 1,890 440 AiAzia x|
256 =i ot 1046-4 P 64 64 AAREIE x|
257 SehH Oll-H2 1047 = 28 248 AElz2|x|d
258 =24 ofichz] 1047-1 = 198 198 Az (x|
259 SehH oflLH2] 1048 = 83 83 AARZIE[R|d
Aglzz(x|,
%0 | =ey ollchel 1049-1 = 1213 1.213 AARRIR R[]
261 SeiH oflLH2] 1049-2 = 36 3% AARZIE[R|d
262 SehH OfI-H2| 1049-3 cH 2%8 2% ez X
263 3z oflHe] 1049-4 cH 330 30 A&z |x|ed
264 St ofiLhe] 1049-5 | 1,300 1,300 ez x|
265 =z otz 1049-6 oH 172 172 Az (x|
266 S2hH ofihe| 1049-7 cH 174 174 AElzz|x|ed
267 S ofiLhel 1049-8 [=3 231 231 ARz x|
268 =i oflHe] 1049-9 | 19 1% N =N ec!
269 et ofiLhe] 1049-10 =3 162 162 ez x|
270 =2t ofiche] 1049-11 X 261 261 ARz K|
271 = ofLiE 1049-12 [=3 126 126 A&z x|
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20234 33 20 e %='| ct IE_I-E Ao3 %
7= 2 XA = SR HRIHA B8EX|
272 =2 oiLhz| 1049-13 cH 63 63 Hglna|x|ed

A=k,
213 =2 ik 1049-14 | 734 734 AR
214 =24 oLt 1049-15 bl 726 726 A2z x|
275 =2 oflhiz] 1049-16 | 4% 4% Az (x|

ARl x|,
276 =24 ofiehz] 1049-17 | 4,19 4,19 aixod
217 2 ofiche] 1049-18 cH %0 0 A2 x|
218 SehH oflLH2] 1049-19 = 2 4 Atz |x|ed
219 e OfI-H2] 1049-20 A 481 481 A&iz2|x[od

A2,
280 | oflhe] 1049-21 ch 214 149 aixod
281 | oflhe] 1049-22 A 17 17 ez x|
282 SehH Ofl-H2] 1049-23 | 142 142 Az x|ed
283 Sz oflh2| 1049-24 X 469 469 AHEl2 x|
284 SehH Ofl-H2] 1050-1 = 843 843 AARZIZ[K|0d
285 e oLt 1050-2 = 129 129 AR [R|
286 ooy ollLhz] 1051-1 = 30 0 AR [X|
287 SehH oflhz| 1051-2 = 53 53 N AICIPNfeC!
288 =2 ofiLhe] 1051-3 = 3 3 AAFRIZ|X|od
289 =2 ofiLhz 1051-4 = 502 502 AARTIR Ko
290 =2 oflLHz| 1051-5 = 13 13 AYARIR K]0
91 SehH oflhz| 1052-1 = 9 %9 AARZIZ[R|0d
22 =i (GR=Y 1052-2 = 529 529 AAREIE x|
293 | oflhe| 1053-1 = 10 10 S Sl
294 S2hH ofl-H2| 1053-2 = 36 3% MAkE[X|od
295 =ziH oLt 1053-3 = 280 280 AUARRIZX|d
2% e ol 1053-4 & 20 20 AARRIR K|
297 SeiH OfI-H2 1053-5 = %83 983 AARZIZ[R|0d
298 =2 oflLHz| 1054 =1 931 931 NI e
2%9 SehH ofl-H2| 1054-1 P 11 11 NI CIPNfeC!
300 =2 itz 1054-2 | 91 91 AARRIZ X |od
301 = OflLH2| 1054-3 =) 1,89 1,896 NN e
302 =2H oLk 1055 = 742 2 HARE K|




Ao o5 S AL A gfLt & = 20234 3 20 EeY

7= = 2 XA = SR HRIHA BEX[

303 e oflhel 1055-1 ® 68 68 AAkRIE (X4
304 SehH OfI-H2] 1056 = 473 473 AAk[K|od
305 S2hH OfI-H2] 1057 g 684 684 AARZIE[R|d
306 =ziH (= 1058 = 47 747 AAZIR |
307 e oflh| 1059 = 1,382 1,382 AAiE (x|
308 =i ot 1060-1 = 13 13 ARz x|
309 S itz 1060-2 X 572 572 HE2 x|
310 SehH (= 1060-3 = 3 3 HElzz x|
311 =i ol 1061 = 486 486 Az |x|ed
312 =ziH otz 1061-1 P 562 562 HEEE x|
313 S itz 1061-2 cH 171 171 AHglziz (x|
314 e oflhe| 1061-3 cH 27 27 Aelziz x|y
315 2 oflti2] 1062 = 833 833 AAkRIE X[
316 e itz 1063 = 1,346 1,346 AAkRIE (K|
317 =ziH (= 1063-1 S 56 5 AUARRIZ K|
318 =2H oflLHz| 1064 = 2,79 279 AARIR K]0
319 =i ot 1064-1 b kY kY AAREIE[R|d
320 = olLhz| 1065-1 = 20 20 AbAlTia [x|od
21 Sajoy il 1065-2 = 1,028 1,028 AR K|
322 S2hH OfI-H2] 1065-3 b 559 559 AAkE[X|od
323 SehH oflhz| 1066-2 = ik} 13 AARZIZ[R|0d
324 el ofihe2| 1067 cH 660 660 AARZIE K|
325 | oflhz| 1067-1 A 139 139 AARRIZ (X |04
326 =2 oLk 1067-2 =1 1,512 1512 AdARRIE (X[
37 SehH oflhz| 1068-1 = 10 10 AARZIZ|K|0d
328 | oflhiz] 1068-2 = 112 112 MAkRIE (X[
329 S2hH OfI-H2] 1068-3 = 1,801 1,801 AAkIE[X|od
330 SeiH OfI-H2] 1068-4 S| 50 50 N AICIPNfeC!
331 e Ofl-H2] 1069-2 = 89 89 AARIE[R|d
332 S2hH ofl-H2| 1069-3 = 504 504 AARZIE[R|d
333 =i ofl-He] 1069-4 A 61 61 AARRIR K|
334 | itz 1070 = 1,815 1,815 AAkziE|x|oF
335 e oflhe| 1072-1 = o2 o2 AAkRIE (x|
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7= = 2 XA = SR HRIHA BEX[

336 =efH ofl-He] 1072-2 = 93 ] AdARTIE (X[
37 S oflti2] 1075 = 559 559 AHEl2 x|
338 3z ol 1076-1 = 73 73 N =N ec!
339 e itz 1076-2 = 1,540 1,540 AMRIE K|
340 e ik 1077 = 656 656 AAkRIE (X |od
3 SehH OfI-H2 1077-1 = 65 65 AARZIZ|R|od
342 SehH oflH2| 1078 = 28 28 AARZIE|R|0d
343 e oflhe| 1079 = 1,243 1,243 AAkRIE (X |od
344 =2 oLk 1080 =1 1,233 1,233 AdARRIE (X[
345 =2 oLk 1081 =1 1,224 1,224 AYARTIE [X|od
346 SehH OfI-H2] 1081-1 = 498 498 AARZIZ[R|0d
a7 e oflhe| 1082-1 = 469 469 =ax|od

348 SeiH ofl-H2| 1082-2 [~ 50 50 AARZIE[R|0d
349 e ofiLhe 1082-3 ch 198 198 L=aix|od

350 S itz 1082-4 2 166 166 =2Ix|od

351 e ofih] 1083-1 ch 4% 4% AAkRIE (x|
32 =i (GR=Y 1083-2 = 212 212 AAREIE[R|d
33 e oflhe| 1083-3 | 268 268 AAkRIE (x|
354 e oflhe| 1083-4 | 179 179 AAkRIE (K|
35 324 ofl-He] 1084 A 79 79 N =N ec!
356 =ziH otz 1085 P 644 644 AAREIZ|R|d
357 e oflh| 1086-1 =5 106 106 AAkRIE (X4
38 e oflhz| 1086-2 = 1,640 1,640 AARRIE X |oF
359 S oflhiz] 1087 =) 1,940 1,940 AARZIZ (X |04
360 e itz 1088 = 476 476 AAkRIE (K|
361 = ofihE| 1089-1 | 185 185 AAEE (x|
362 e ofl-h| 1089-3 H 25 225 AAkRIE (X |od
363 SeiH oflHz| 1089-4 = ik} 13 AARZIZ[R|0d
364 =i oLt 1089-5 & 50 50 AN R
365 =i ol 1089-6 = 146 146 AUARRIZX|od
366 S2hH OfI-H2] 1089-7 b 79 79 MAkIE[X|od
367 =ziH otz 1090-1 b 73 73 AAREIE|R|d
368 e oflhe| 1090-2 =5 116 116 AAkRIE (x|
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2 XA = SR HRIHA BEX[
| oflhz| 1090-3 A 2,126 2,126 AAkRIE (X4
=i oLtz 1091-1 ol 254 254 AUARRIZX|od
3z OfI-H2] 1091-2 = 13 13 N =N ec!
e itz 1091-3 = 2 2 AARZIE[X|d
| oflh| 1091-4 =5 M6 446 AAkRIE (X |od
=i OfI-H2 1091-5 A 387 387 AARRIE[R|d
=z ot 1091-6 | 820 820 AAREIE[R|d
SeHH oilLhz| 1001-7 H 969 969 AYARIE (X0
=i oilLHE] 1002 A 540 540 AUARRIZ|X|od
Sy oiLhiz| 1002-1 A 313 313 AN [X|A
=i OfI-H2] 1092-2 P 151 151 AAREIR[R|d
=g ofltig 1002-3 | 140 140 AYARRIE K[
=i OfI-H2] 1002-4 P 102 102 N =N ec!
=ziH (= 1093-1 oH 347 347 AARRIZ K|
S itz 1093-2 = 159 159 AARZIE[X|d

384 e oilLHE] 1093-3 ol 555 555 AAEIR R
385 =i oLk 1093-4 = 66 66 AYARTIE [X|od
SehH OfI-H2| 1093-5 | 1,963 1,963 N I PN L
Sy il 1093-6 ¥ 459 459 AN (XA
S2hH ofihe| 1093-7 b 468 468 AAkE[X|od
=ziH otz 1093-8 P 123 123 AAREIZ|R|d
| oflhe] 1093-9 | 103 103 AAkRIE (X4
=g ofltiz] 1093-10 = 858 858 AARRIR K[
S itz 1094-1 X 4,840 4800 AAER(X|
e itz 1095 = 340 340 AAkRIE (K|
= oflh| 1096-1 | 2,783 2783 AAkRiE X |oF
e ofl-h| 1096-2 = 969 969 AARZIE[X|A
=i ot 1097 = 486 486 AUARRIZX|0d
oy ollLhz] 1008 = 1,036 1,036 AARIE (XA
=2 ofiLiz] 1008-1 =) 507 507 AARRIE K]
= ofl-h| 1098-2 = 578 578 AAkmiE|x|od
| itz 1098-3 = 3344 3,344 AAER(X|A
| Ofl-H2| 1008-4 = 1,220 1,220 AAkRIE (x|




20231 38 202 ALl Metd & =

7= = 2| x| R= SR HRIHA
402 =24 oflhel 1098-5 = 469 469
403 =24 ofiche] 1098-6 [=3 78 78
404 =24 ofl-h2] 1008-7 = 135 135
405 =24 ofiLhe] 1098-8 =3 65 65
406 =2 oflh| 1098-9 =5 257 257
407 2 itz 1098-10 = 124 124
408 | ofiche] 1008-11 = 2 2
409 | itz 1099-1 = 89 89
410 | ofl-hz| 1099-2 = 241 241
M | itz 1090-3 | 866 866
412 a2 itz 1100-1 | 1,70 1,709
413 =2 oiLhz| 1100-2 = 86 8
414 2 oflti2] 1101-1 X 192 192
415 =24 itz 1101-2 = 661 661
416 =24 oflhiz] 1101-3 | 546 546
47 =24 ofih] 1102 | 1,125 1,125
418 =2 ofiche] 1102-1 | 1,040 1,040
419 =2 oflh2] 1103-1 o 53 53
420 =ziH oLz 1103-2 = 9 9
a1 =i itz 1103-3 ol 112 112
422 =24 itz 1104-1 [=3 83 83
423 =24 oflh| 1104-2 | 1,755 1,75
424 | oflhe| 1104-3 | 136 136
425 | itz 1105-1 = 175 175
426 =24 itz 1105-2 | 1,798 1,798
&7 =2 oflh| 1106-1 =3 129 129
428 =24 ofl-h| 1106-2 | 2,684 2,684
429 2 itz 1107-1 = 1,600 1,600
430 24 oflh2] 1107-2 o 46 446
431 =4 ofi-hiz| 1108 X 2,321 2,321
43 | ofl-h| 1109-1 | 1,385 1,385
433 2 itz 1100-2 = 721 721
434 24 oflhe| 1100-3 | 364 364




— 2| | 2l
Matd & 20234 38 202 L

2 XA x= FRAHN A BEX|
ooy ollLhz] 1109-4 X 407 407 AR (X
Sajoy ollLhe| 1110-1 = 192 192 AR (X
= ollLhz| 1110-2 P 661 661 AAEIE[X]A
438 =y oLz 1111 = 1,369 1,369 AARIR XS
439 Eajny ollLhz| 1112 X %9 909 AR [X|
440 =y oiLLhiz| 1113 X 853 853 AAEIE (XA
=ajm oLk 11131 = 69 69 AWM XA
Saj ollLHe 1114-1 A 50 50 AR XA
3 Sajoy oflLiz 1114-2 = 106 106 AR (X
404 =y oLk 1114-3 = 136 136 AN [X|A
a5 =aj oLk 1114-4 = 49 49 AN (XA
M6 ooy oflLiz| 1115-1 | 238 238 AR [X|
=y oflLiz| 1115-2 = 205 205 AR (X
SehH oflhz| 1115-3 | Pty 2% AAkmiE|x|0d
2hH oflhiz] 1115-4 = 172 172 AARRIR X[
Sy oflLiz| 1115-5 = 181 181 AR [X|
oy oflLiz] 1116-1 | 912 912 AAkER x|
=y oLz 1116-2 = 172 172 AR [X|
=y oiLhiz| 1116-3 = 76 76 AN (XA
Sajoy oflLiz| 1116-4 = 0 ) AR (X
Sajy ollLhe| 117-1 X 1,160 1,160 AR (XA
=3y oLz 1117-2 = 3 3 AR [X|
oy oLz 1117-3 = 104 104 AR (X
= ofLiz 1117-4 = 3H b AR X
Sajy ollLhe| 1118 = 776 776 AARIR XS
Sy oflLiz 1118-1 = 103 103 AARR (X
ooy ollLhz| 1119 X 152 152 AR [X|
=aj oLk 1119-1 = 7 7 AWM (XA
oy ollLHe 1120 X 866 866 AARIE (XA
| itz 1121 S 1,613 1,613 AARZIE K|
2o oLz 1122 =2 165 165 AR (X
Sajy ollLhz| 1123 X 734 734 AR (XA
=y oLz 1124 2 284 284 AR [X|
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20231 38 202 ALl et & =90

7= = 2| x| R= SR HRIHA
468 =24 oflhel 1125 | 902 202
469 =24 oflti2] 1126 2 241 241
470 | ofiche] 1127 X 608 608
an =2 oflhe] 1128 A 820 820
412 =2 oflh| 1129-1 | 182 182
473 2 ofiche] 1129-2 | 3426 342
474 Sajiod oflLhig| 1129-3 X 648 648
475 =24 oflhe| 1129-4 | 1,018 1,018
476 | ofl-hz| 1229-5 = 185 185
ivg4 | ofiche] 1229-6 [=3 139 139
478 a2 ofiche] 1129-7 2l 4,3% 4,3%
479 =24 oflhe| 1129-8 2l 1,197 1,197
480 =4 ofiche] 1129-9 X 423 423
481 =24 itz 1129-10 2 317 317
482 =24 itz 1129-11 = 4 4
483 =24 ofih] 1229-12 =5 162 162
484 =24 itz 1129-13 = 151 151
485 =2 itz 1130 | 734 734
486 24 oflhe| 1131 | 1,904 1,004
487 | oflhz| 1131-1 | 1,339 1,339
488 =24 ofiehe] 1132-1 | 1,167 1,167
489 | ofiehe] 1132-2 | 506 506
490 24 oflhe| 1133 | 506 506
401 =i ot 1134 A 592 502
42 =24 ofiLhe] 1135 | 744 744
493 =2 oflh| 1136-1 | 876 876
494 =24 ofl-h| 1136-2 =5 132 132
4% =24 ofiche] 1137-1 | 126 126
496 =2 ollLiE] 1137-2 = 56 5%
497 | ofi-hiz| 1138 X 893 893
498 | ofl-h| 1139 | 807 807
49 =24 ofiche] 1140 | 195 19
500 24 oflhe] 1141-1 A 585 585




"3 g Matd & 20234 3% 202 2o
7= = 2 XA = SR HRIHA BEX|A
501 e oflhel 1141-2 =5 43 83 AAkRIE (X4
502 =i oflHe] 1142-1 | 205 205 AAREIE[R|d
503 S2hH ofl-H2| 142-2 = 83 83 NI CIPNfeC!
504 e itz 1142-3 | 10 10 AAkRIE (x|
505 e oflh2| 1143-1 | 10 10 AAiE (x|
506 =i oLk 1143-2 = 86 86 AYARTIE [X|od
507 =z ot 1144-1 | 939 939 AAREIE[R|d
508 e itz 1144-2 = 126 126 AAkRIE (X |od

c AR,
509 =ziH otz 1145 = 605 24 iy
AARZR[X]S,
510 =2 itz 1145-1 ch 724 724 =aixod
511 e ikl 1145-2 | 393 393 AAkiE (x|
512 SehH OfI-H2] 1145-5 1} 558 558 =aIx|od
513 S olLhz| 1145-6 ' 2,697 2,697 =2Ix|od
514 =ziH (I 1145-8 P 645 645 =2ix|od
- R[S,
515 =2 oLk 1145-9 ! 832 83 oot
= AR,
516 S oflhe| 1146 = 843 37 =aixod
Al x|,
517 | oflh2| 1211 | 12,754 8,978 AAkB[R|Od,
RIOIBFAETR|
518 =ziH (R 1213 = 116 57 RIItHEHR|A
Ak,
519 | oflhe| 1214 = 4% 4% AARRR XS,
SEXA
520 Sz OfI-H2] 1215 = 116 116 AARRIE K|
o = A2,
521 | oflh| 1217 = 3,170 738 AiARIR|x[oH
Al (x|,
522 e oflhe| 1218 T 3236 1,456 AARRIR X[,
RIOASIAEHTIR|A
o - A2,
53 | =ay ollLhe] 1222 3 2813 1454 AR K]
524 e itz 1224 = 4% 4% AAkRIE (x|
525 | ofl-h| 1225 = 116 116 AAkRIE (X |od
526 2 itz AR31-2 2 57,322 57,042 L=2Ix|od
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2023 3% 202 YL 2 Bt MesgfFoERY

7= = 2 XA = SR HRIHA BEX[
HERRIX|,
527 2 ofiche] AR31-33 2 40,933 28,645 waix|od
528 SehH ofl-H2| AR31-42 = 1,200 87 =aIx|od
529 e ofiLhe] A231-48 2 50,660 43987 =2Ix|od
530 =ziH otz Ap32 el 1,762 1,762 =2ix|od
AARIRIX|,
531 S itz AR32-2 = 3,169 2,831 Klolsizimirix[od
532 SehH ofl-H2| AR32-4 = R R N AICIPNfeC!
533 =ziH otz AR3R-5 ol 1,762 1,762 =aix|od
534 =2 oiLhz| M232-6 el 4679 4539 =2Ix|o
535 =z oLt A232-9 = %8 8 AAREIE|R|od
536 =z otz 233 ol 397 307 =aix|od
537 =2 ofiehe] AR34-1 el 808 808 SER|A
538 =i ol A234-3 = 45 45 N =N ec!
539 =ziH (I AR34-6 = a4 444 =aix|od
540 =zfH otz Ai234-9 ol o7 o7 =2ix|od
541 | oflh| AR34-10 =5 640 407 AAkRIE (K|
542 S ofiche] 2235 2] 2,346 2,346 =2Ix|od
543 S ofiche] A235-1 2] 1,621 1,621 =2Ix|od
544 SehH Ofl-H2] AR36 el 642 642 =aIx|od
545 S2hH ofl-H2| A236-1 ol 251 251 =aIx|od
546 e oLk AR37-1 ol 1,522 1,522 =2Ix|od
547 =i ollLHz] ARR37-5 ol U1 35 =2ix|od
548 e ofl-He] A1230-1 2l 2,153 2,153 S2Ix|od
549 e ofiche] AR39-7 ol 1,599 1,599 =2ix|od
550 S2hH ofl-H2| A239-8 ol 1,349 269 =aIx|od
551 e ofiLhe] AR40 2 1,175 1,175 =2IX|od
562 =z ot Ai240-1 o 15 15 =2ix|od
553 SeiH Ofl-H2] AR41-5 &= 1,849 384 RIOIBFAHRIX|04
554 =i ol AR41-6 ol 980 523 RIS AIR|od
565 =i ol A41-9 &= 199 199 RIS AIR| o
556 =24 ofiLhe] A43-1 = 2,890 2890 2R
557 | ofiche] AR43-2 ol 15,150 15,150 =2Ix|od
558 =2 ofiehe] A243-3 el 1,686 1,686 SER




A3 T g Matd & 202344 38 202 Y2
= = 2| x| R= SR HRIHA BEA|A
559 =24 ofiehe] AR43-4 o 189 189 SERA

AARIE|X|A,
560 =i Oll-h2] Ai43-5 = 1,137 425 =aixfod
561 3z ol A43-9 = 17 74 AARRIE[R|d
562 SehH ofl-He] 21243-10 = 1,960 182 =aix|od
563 | ofiLhe] ARA3-11 =3 19 19 =2Ix|od
564 =i (GR=Y A43-12 = 57 57 =2Ix|od
565 =2 olLhz| M243-15 ol 361 361 =2Ix|o
566 =4 ofiche] A2A3-17 2] 71 71 =aix|od
567 S2hH ofl-H2| AR43-20 = 3 3 =aIx|od
568 =) oLz A4 el 19,369 19,369 SEXA
569 =24 ofiche] A4s-3 [=3 1,201 1,201 =2ix|od
570 =i ot A44-5 el 129 129 =2Ix|od
571 = ofiche] A245 2] 1,289 1,289 =2Ix|od
572 =24 ofiLhe] ARA7-3 2 7,041 7,041 L=aix|od
573 oy oflLhiz| AR4T-4 2 2,937 2,937 SER
574 | el ofl e AoAT-6 2 5,547 5,547 S
575 =z (GIR=Y Nea7-7 = 379 340 RIS AIR|od
576 SehH Oll-H2] AR4T-8 el 219 219 RIISFAERIX| o
517 =ziH oLt Ai247-9 = 97 o7 RIIEHHEHR|A
578 =24 ofiLhe] A47-17 =3 16 6 RIOISIAHTR |04
579 =z (G NR47-26 el 172 172 RIS EAIR| o
580 e ofl-He] AR47-31 ol 1,472 473 S2ix|od
581 =2 oLk M247-36 ol 556 556 =2Ix|o
582 =2 oflh] A247-37 o 127 127 L=aix|od
583 =24 ofiLhe] A49-1 2l 49,954 49954 =2
HERRIX|,
584 2 ofiche] 2494 2l 2,676 2676 AARIE|X|,
SERA
585 SehH Ofl-H2] AR49-5 el 11,603 11,603 =2Ix|od
586 =4 ofiche] A49-6 2] 3720 3720 =2Ix|od
587 S olLhz| ARA9-7 el 209 909 =2Ix|od
588 =4 ofiche] A49-9 ol 119 119 =2Ix|od
AARIEIX|A,
589 =24 ofichz A249-12 ol 154 154 =aixod




20234 32 202 222l %_" EI‘L:—I'E =] Aoz S =R
= | = d R xi2 ot e SRS
590 SehH Oll-H2] AR49-14 = 306 66 =2Ix|od
sof | et | oiulel | AR g %3 30 ”'i'aiﬁ'g%
592 SehH Ofl-H2] AR49-32 ol 106 % =aIx|od
503 | el ofl el AN249-37 = 30 286 Acﬂiéi';lﬁ
504 | el | ol M2L9-38 = 179 179 =zixjof
595 SehH ofl-H2| AR49-39 = 86 7 =aIx|od
506 e oflhel AR49-40 2 17 17 L=aix|od
597 3 ol A49-42 el 3,444 1,059 =2x|od
s | = | ol | AR ol 3012 12683 ggﬁ:ﬁ'@"ﬂ"
500 | el | ol ApA9-51 of 58 58 =2ixjof
600 =2{H oflLHz| A249-52 o 265 %65 =ax|od
601 =2 o{Lhz| M249-53 el 237 237 =2Ix|o
62 | el oilh2 A49-54 ol 103 103 =2 xod
603 | el | olel 501 o 1567 1567 7 1'2;:‘;';?’
64 | =et | ol A252-5 2l 2% 206 ”'igigﬁ
o5 | =a | ol 2252-6 ol 28 10 g 1|§Eﬂ:§|gﬁ,
606 =zfH (I Ai53 ol 553 153 =2Ix|od
607 | ey WE] A4 ol 11,487 11,487 =axjod
608 =2 ollLhz| A254-1 ol 9,229 9,229 SEXYA
609 SehH ofl-H2| A54-3 ol 214 214 =aIx|od
610 | =2y oil-h2 A5a-4 ol 539 539 =axod
611 Sy oilLh2| A54-5 ol 250 250 =2/x|of
612 =z otz Ai255 ol 2,717 2,717 =2ix|od
613 | =2y WE] A6 ol 3967 3967 =2ix|od
614 | ‘ay oilh2 A57-1 ol 21,146 21,146 =2x|of
615 | ‘=ayp oil-he A57-3 ol 8,001 8,001 =aix|od
616 | =2y ollh2 A57-5 ol 1,394 1,394 =2ix|of
617 | =2y oll-h A257-6 ol 9976 9976 =aix|od
618 =y oflhiz] Al257-8 ol 9917 9917 SEX




K] M2t & 20234 38 202 e

2 = 2| R = B HeiRr SRS
619 2 oflutie] M257-11 = 6 6 A&z |x|ed
620 =2 ofltiz] Ai257-14 ol 721 15 ﬁ'i%ﬁg%
@1 | = | oldel | ARG 2 1,409 190 s
MARIR IR,
622 =l oflutie] A58 ol 23802 23802 waix[od
MR IRI,
623 =2 oflhe] Ai59 el 3,769 3,769 aix[od
64 | =ap | ol 260 o 7487 747 g’iﬁ:ﬁ'@%
625 | ey ofltel A2B0-1 = 2182 188 w=aix|o]
626 =2 ofluti] A260-1 = 2,182 1,210 =alx|od
627 =l ofluhz A60-2 ol 10,414 4341 =2Ix|of
628 | el oilLtz A2B1-4 = 467 467 AR ]
629 3z ol Ai261-5 = 927 608 AARRIER|d
60 | = | oldel | ARBI6 2! 1,072 50 e
631 =l oflutiz] 617 = 452 149 AR
632 2 ofl-he] Ai261-10 ol 26 26 =2Ix|od
633 =2 ofluhig] A61-14 ol 910 910 =2ix|od
634 Sajod ofiLhe Ab63-1 ol 678 678 SEAA
635 =l oflutie] Ap63-4 2l 16 16 S
636 S2hH ofl-He] L1263-5 ol 2,084 676 =aix|od
637 224 ofluz A263-6 ol 251 251 SR
638 =2 oflutiz] 264 el 2949 2909 ==X
et | ol M52 ol 7 7 7 :”igi'@%
640 S2hH oflHe] £1265-3 o 397 307 =aix|od
641 | el oiltz A265-4 o 423 m w=ax|od
642 SehH OfI-H2 AR65-7 el 56 56 =aIx|od
o3 | Eele | olel | AR J 118 604 s
644 S2hH OfI-H2] A265-10 el 1 1 =aIx|od
645 =l oflutie] A4266-1 2l 4,405 4,405 S
646 =i OfI-H2 A1266-2 = 694 694 SERA




2023 33 202 W2 My & = MesgfFoERY

7= = 2 XA = SR HRIHA BEX[
647 =efH ofl-He] A1266-3 2l 1,322 1,322 =aix|od
648 =i oflHe] A266-4 ol 136 136 =2ix|od
649 =2 ofiLhz A268-4 ol Q92 992 =2Ix|o
MM,
650 S ofl-H2| AI268-6 el 198 198 =aixod
651 =2 oLk A269-1 ol 2,082 2,082 =2Ix|of
o SEX|Y,
652 | ey oflhel A1269-5 2 6,248 6,248 RjOTBI AR |
ARl (x|,
653 e itz AI270 = 10,364 10,364 SEX|Y,
RIQISFAERIX| A
654 = oLk LR70-1 T 286 286 ple L [ SN e
655 =i (GIR=Y A270-2 el 118 118 RIS AIR|od
656 SehH Ofl-H2] AR71-1 & 2,281 2,281 ROIBFAERIX|o4
SEXA AL
SEX|Y,
658 2hH ofl-H2| AR72-1 el 13,193 329 Rlotslisix|od
o] SEXY,
659 a2 itz AR72-5 2| 4,041 3,639 R|OISIHEHAIK|04
660 S oflti2] AR73-1 el 3314 84 S2IK|o
ot 157 U Aae
7= = 2 XA = SR HRIHA NEE
=2hH =l 758,186 691,384
1 =i =l 13 el 1,269 1,269 =aix|od
2 =2 A= 13-1 el 595 5% =2Ix|o
AR,
3 ehH Wr=c 14 | 334 334 i
4 =z =t 15 P 397 307 AAREIE[R|od
5 =z =t 15-1 P 178 178 AARRIR|R|d
AARIZX|,
6 S = 17-0 | 2,364 2,364 =aixod
AARIEX|,
7 Sz = 17-1 X 1,150 1,150 =aixod
8 =ziH =t 18 P 274 274 AUARZIZ|R|d
AARIZX|,
9 2hH =t 19 = 1,074 1,074 =aixod
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